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ol ol HEH SEIH A 896,000 3,000,000 /2,104,000
[ 448,000
= 224,000
= 224,000
401 AlEHIZ 201 896,000 3,000,000 A2,104,000
= 448,000
< 224,000
= 224,000
01 A&t 891,000 3,000,000 £2,109,000
OYst B2HMER ST
891,000,000& 891,000
= 445,500
& 222,750
Ea 222,750
03 Al CHYI 5,000 0 5,000
Ozl Sl 42 SSIHIAMY AER
tHol 5,000,000& 5,000
= 2,500
< 1,250
s 1,250
2 THATHOH IS N & X+ EBIAL 2,662,000 2,000,000 662,000
= 1,331,000
< 665,500
s 665,500
401 Al HIZL 01| 2,662,000 2,000,000 662,000
= 1,331,000
== 665,500
[Ea 665,500
01 Al&HI 2,662,000 2,000,000 662,000
O THHAZIMNE X FHIAY
2,662,000,000& 2,662,000
s 1,331,000
== 665,500
o 665,500
ES S=off dEd SE;EH A 6,800,000 3,570,000 3,230,000
s 3,400,000
s 1,700,000




2A:

S Toll & T
SR eSS 2 et 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,700,000
401 AIEHIX 20 6,800,000 3,570,000 3,230,000
[ 3,400,000
= 1,700,000
= 1,700,000
01 Al&H| 6,795,000 3,570,000 3,225,000
E Sroldgd SEIHIAY
6,795,000,000& 6,795,000
[ 3,397,500
= 1,698,750
= 1,698,750
03 AIZSTHYI 5,000 0 5,000
E Sroldgd SEIUIAMG AEFUH
] 5,000,000& 5,000
[ 2,500
= 1,250
[Ea 1,250
o= AL 50,000 50,000 0
302 OI==H o2 &= 50,000 50,000
02 2t S HESE2a=3 50,000 50,000
OMXIES 50,000,000 50,000
A0LE HIF2CIANAE A=A 210,000 350,000 140,000
= 105,000
s 105,000
401 Al HIZL 01| 210,000 350,000 140,000
= 105,000
= 105,000
01 Al&H| 210,000 350,000 140,000
OATIE HEBRANAL TEAY
210,000,000 210,000
[ 105,000
s 105,000
SH0l THAMHASEHLX T A 400,000 400,000 0
= 200,000
= 100,000
o 100,000
401 AlZHIZ SO 400,000 400,000 0
[ 200,000
= 100,000
Ea 100,000
01 AlZH| 400,000 400,000 0
O=H0| Ao NS X+ FHIAE
400,000,000 *14] 400,000
[ 200,000




SN QB

SE: Mol 2 Huole
SR eSS 2 et 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 100,000
2 100,000
2ol2 EoiMed SEEHIAY 1,200,000 0 1,200,000
2 600,000
= 300,000
2 300,000
401 AlEHIZL ORI 1,200,000 0 1,200,000
2 600,000
= 300,000
2 300,000
01 Al&H] 1,200,000 0 1,200,000
OB ESoNMEY SSHUIAIY
1,200,000,000& 1,200,000
2 600,000
= 300,000
2 300,000
ZeH oHEE| 6,351,840 6,529,230 177,390
A5HEFH 6,351,840 6,529,230 177,390
ASHETHI(HEAL) 5,740,000 6,070,000 £330,000
401 AlZHIZL S OHHI 5,740,000 6,070,000 £330,000
01 Al&ZH] 5,730,000 6,070,000 340,000
OALAGH HHISAHEE)
1,300,000,0002 1,300,000
OIITATIE HHIBA(TE)
2,000,000,0002 2,000,000
OSH0225Hd FHISAHES)
700,000,000 700,000
ORLAEHE HHISAHEE)
300,000,0002 300,000
ObIEASHE FHISAHEE)
500,000,002 500,000
OXH2A0tE FHIZAHEE)
400,000,000 400,000
O A5t HHISAHEE)
200,000,0002 200,000
OHld2A0tE FHIZAHEE)
230,000,0002 230,000
OASIAETHIZA AAIEH2H (TS
100,000,000 100,000
08 Al&= 0| 10,000 0 10,000
OAGHIZHIZ AL AIESTHHI(H 8
10,000,000 10,000
A5 R 611,840 459,230 152,610
201 Ler2 | 108,240 109,230 A9%0
01 AtRZ2lt| 108,240 109,230 2990




SN IEERDY
g e ote ™|
el Aot EH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O4-otd 2|23 & Mol SEE IR
23l =4 8,240
-Aotd2e|?ld B+
30,0002 x4 & +23] 240
Mol gerEoaolg H4+g
8,000,000 8,000
O4otd RAl2cl HSX=
100,000,000 100,000
401 AIZHIX S0HH 503,600 350,000 163,600
01 AlZ2H| 500,000 350,000 150,000
A0t =Al2 450,000,000 450,000
Oxotd 0128 24 50,000,000 50,000
03 A2 20HHI 3,600 0 3,600
OZ4otd 2A2cl AIE20U|
500,000, 000&*0.72% 3,600
24N2t SEZNZ FLtMY 2= 3,358,862 3,482,551 N123,689
< 10,000
[Ea 3,348,862
CCTV SHEXIZ QtMet WA 28 3,358,862 3,482,551 A123,689
& 10,000
= 3,348,862
SEHel LEE Vv S& 22 2,371,829 2,467,161 A95,332
201 er23| 1,315,373 1,180,517 134,856
01 At2teltl 586,529 4,287 582,242
OWIVSEZMAH 2d82s B4+
70,0002 x5 *13] 350
OCCTV SE2HMAE 234l
2,500,000 *14] 2,500
OV 29 stdx SIt AL ZX2
9102 *86=* 122 940
OFAFEHIIII(CCT) BRI 22
299,720,000 x 14 29,720
OCCTV SE2MAIAE S22 145,590
-CCTV SE2MIEHI(H/W)
647,000,000 *6% 38,820
-CCTV SE2MIZHI(S/W)
889,750,000& *12% 106,770
OAOIEAIE SEEAE A2+ 87,912
-SEEHS ZHI(HMW) 213,675,000 *6% 12,821
-SEEAS ZHI(S/W)
625,755,000 *12% 75,091
OSAEAl AISAY B2
525,282,046 6% 31,517
OV SE2MUE SEMAASSEXI(UPS)
BHE 2l wH 300, 0002 *60H 18,000
2 S5=2g4l 728,844 1,176,230 447,386




2A:

I A STRHR FOANY D
CH9l: (CTV SIHAXI2 OHAEH MHAA 78 (69 =)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OCCIV AtZEZ 714,000
-0CTV SHAIE2(HE23H)
75,0002 70004 2xx 122 630,000
—CTV HIIAEZ
10,0003 70004 2% 123 84,000
OCCTV SE2ZHISE AIZEHl S 8,000
-OCTV SE2MUE AIZEH RAHI(LE,
UEES, HHorN, SYFEX S)
8,000,000& 8,000
OSAIZAl WSHEMSAIAE KX
300,000,000 * 1% 3,000
OV SE2MHE ME3EA
12,0003 x247m’ 2,964
OCCTV SS2MUAE o MESS
880,000& 12 880
307 @120l & 522,456 513,744 8,712
05 212+ =S 522,456 513,744 8,712
OCCTV SE2MHH ZULHHE ESSA
3,958,000 x11E« 122 522,456
401 AlEHIZL SO 30,000 15,000 15,000
01 Al&ZHI 30,000 15,000 15,000
OCCTV Ol 8 &R R8I
15,000,000 » 14 15,000
Otsald 262 F A
7,500,000 22 15,000
405 AtatE = 504,000 757,900 253,900
01 Tt =S F=HI 504,000 757,900 253,900
OggHE CCTV A &£X
4,000,000 +50IH 2 200,000
OXtE s 2IAl CCTV WAl
29,250,000 #40H 2 117,000
OV S MaEs AEL2N
70,000,000 * 14! 70,000
OV SEMHUE == 2 4l WM A
& 94,000,000 * 14 94,000
Ogy A £88 A=
23,000,000& x 14 23,000
=S IV 2LIEIRE EGAE 284,976 280,224 4,752
307 gl2to| & 284,976 280,224 4,752
05 212+ =S 284,976 280,224 4,752
OV ZLIEZH RF S9
3,958,000 x6H 122 284,976
=t TH=A CTV E XA 220,000 300,000 80,000
401 AlEHIZL SO 220,000 300,000 80,000
01 Al&ZHI 220,000 300,000 80,000
O=2Itd =X 0TV XA
220,000,000 220,000




2N HEET

S 24A2F SE2MZ FRIotMA A=
Sl OCTV BHAAXIZ OHEEH MHAF 13 (SHol: )
SA - BB 9(BH) - HIRAR - BaS A 2
MEtEtHE CCTV 8 XA 10,000 0
& 10,000
402 QI Rt=01H 10,000 0
= 10,000
02 QIZEXHE2AIZ 2 X (01 & TH &) 10,000 0
OXES F240= CCIV &xl
10,000,000 14 10,000
T 10,000
FOIEOJ Ol AFALR (SEHZRIE) 120,057 58,086
402 QI2E X201 ™ 120,057 58,086
01 QIZEXH2 A 22 (RERITH &) 120,057 58,086
OZ=&0IZ CTV &EXIALS 12,000,000& 12,000
Ootg0rE TV & XAt 7,000,000& 7,000
Og=&0t= ICTV XA
9,000,000& 9,000
=2|0t2 CCTV &XIAIS 10,400,000 10,400
OARDEZ CCTV & XIALS 9,000,000& 9,000
OZ2202 TV EXIALS 9,320,000& 9,320
O30t CCTV & XA 5,000,000& 5,000
O=2l0tE CTv XAt 9,700,000& 9,700
O&G0IZ CCTV & XA 5,100,000& 5,100
OZ S ALOMHIE CCTV A XA
20,000,000 20,000
OAI&E272012 CCTV & XA
13,009,000 13,009
ODIEDIZ CCTV &EXIAIS 4,705,000 4,705
Osts0ts CCTV XAt 5,823,000& 5,823
KBS QAL CCTV &HH & X 52,000 52,000
401 A HIL20HH| 52,000 52,000
01 Al&HI 52,000 52,000
OXt&EFHSOIA CCTV & X
26,000,000 *2IH 2~ 52,000
02 ¢Y¥E CoTv &t &X 300,000 325,080
401 Al HILS0HY| 300,000 325,080
01 Al&HI 300,000 325,080
OO0t ge= CCTv =i &X|
15,000,000 *200H 2 300,000
CHIHOH ollgt2te] 339,3% 104,808
SUMHAN H=Z3 =28 &4 339,3% 104,808
ARAOIMBHAR (SR, J|I2HH &) 41,286 39,758
201 L2 AH| 41,286 39,758
01 AtR2elt] 41,286 39,758
Ot 22| X LRUH 2E T
4,600 x295H « 12& 16,284




A S
= SO o2t

Cel: EOHHGH MI23 B XA (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORABAT 20N SASraz
5,70021%295%+ 128 20,178
OULADNK(N2DF) FS+42
100,0002 40 4,000
Ottt AH2Ae 29
206,000 43 824
SHUMHoH M =& 298,110 65,050 233,060
201 er23 | 38,050 40,250 22,200
01 AR r2IH| 17,050 17,250 2200
OMAOIAEAY ELe2
500,000 * 12 6,000
ONE SI88EI} 2ug B
9,000,000& %12 9,000
OZE= M 1,250
—cIEH M 1,000& 500 500
-S2=3 MR 5,000& 1504 750
otdEs +Y 400,000 <24 800
2 Ss2g4l 20,000 22,000 22,000
OSSN s 28ty =&
20,000,000 * 14| 20,000
03 ALY 1,000 1,000 0
OSUMol ML= Zotus
500,000 22 1,000
207 ARl 260,060 22,000 238,060
01 S| 216,060 22,000 194,060
OHMNBSAIE= 2t H-ZA ES
780,000 %2774 216,060
02 MAHHZHI 44,000 0 44,000
OdEZ SUMol 0l 2ot & Jpee
44,000,0003*14] 44,000
Hegs(erdsz) 1,163,000 1,048,650 114,350
LIS HHXIE 1,163,000 1,048,650 114,350
MHet2e DS AFE = 1,163,000 1,048,650 114,350
RISHES 1,163,000 1,048,650 114,350
(UIPIETSE—S 1,163,000 1,048,650 114,350
OMtt2edl= 1,163,000,000& 1,163,000




